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6. Cf®(382S5d-e6@CSB O4255® ©255*©255* 6338©t03*<8253 efOC3232553 6320 ®g25f©COP aadzSoS 32|3© 
©553038255 255003255, 8^0)4© 8ZJ$@8. 

253255255 33 d<3255 03255*$ 3@e8255d-S& 2553<°5o3t03do3 ®2533®03255* £35255*883 255d255*255. 
£f©(38255d-S6 203 SzS-Qg® £3o 255(3*£3 £3063255*425503 255d255*255. 
2538S*£3342558255* 3®c8253d - e&03 ®255©d£8 8®crf« 3©o)325503255* ©033§ 255d255*®255* ®255°4? 

7. 2S5aS2553d©255 3 ®g8255d - € & 0 3 0325J 255a825531*5®255 ® 0 3 4 g ® eSjoS® 203 255a82553C*5@255 
2558S*£334255 ®C03So®<3° 8 0 O38®l03*c3253033 4253*©3 CO®255* 295® 634203 g 8 c 3 g ® 

2§0332553d255®, 3303235255 203 g2§025)*29 8g £ ) q © 32ft525503 295®8. 

i. 253255255 a3C*5(S25503255 255a©2553ft®255 3®c8255d'®6@05° 2553&O3E03do3 ®2S58®03255* 
20g255*©255°255. 

i i . § ( 3o2553®S 255aS2553d@255 3©c8253d«&®03° 90J3255 gd©(32533 ®®3255©34? 

iii. 0® g6©(3Z533 esqsos Sesg® ©©3255634? 

8. £320255 63420255* ®255}® 25255263* (03) 8gS)q© 86S°255d3253*®255 63 020255* §03255*255. 

90)3255 33203d Odffl 
ii. 8®0253 o8®203*d255O3 

Hi. 60255 0® 253(3*823503 
iv. 63®3d 33d253*8S-€& d3(303255* 
V. 253,CJ®a) o8©203*d255o3 203 8 0 3 4 ® 63®253*8S-€!o 

0 

2 



UNIVERSITY OF COLOMBO. SRI LANKA 
FACULTY OF ARTS 

Third Year General BED Degree Examination in Arts (Economics) - 2018 
First Semester Final Examination 

ENH 3142 ELT 3150 - Consumer Studies and Marketing 
Time Allowed: Two Hours (02) Only 

Answer any four questions. All Questions Carry Equal Marks 
(Candidates may be penalized for illegible handwritings) 

1. The relationship between overall consumption level and economic development 
is becoming increasingly close. 

i. How do you differentiate consumer goods as 'durable' and 'non-durable'? 
ii. Examine the factors affecting household consumption. 

iii. To what extent will the consumption reflect the level of household 
welfare? 

2. A relatively wealthy society enjoying a high standard of living is interpreted as the 
stage of high mass consumption. 

i. What are the major characteristics of the 'high mass consumption'? 
ii. To what extent is the high mass consumption visible in developing 

countries? 
iii. What are negative implications of the high mass consumption? 

3. The traditional sustainable production system in the olden Sri Lankan society 
reflected its own sustainable consumption habits. 

i. Examine the major food items in the olden Sri Lankan society. 
ii. The requirement of non-food items was extremely limited in this society. 

Do you agree with this? Give reasons for your answer. 
iii. How do you examine the sustainable characteristics of this society? 

4. Increasing productivity as a result of industrial and agricultural revolutions 
pawed the way for high consumption in modern societies. 

i. Briefly examine the productivity concept. 
ii. Identify the major contributory factors for the productivity growth. 

iii. How do you identify the relationship between the productivity and 
consumption? 
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5. Fast food culture is a rapidly growing and increasingly well-established 
consumption pattern in fast moving societies. 

i. Briefly examine the above statement. 
ii. What were fast food characteristics in olden societies? 

iii. What are the major negative implications of the fast food culture? 

6. Marketing is based on thinking about the business in terms of customer needs and 
his satisfaction. 

i. Briefly examine the role of marketing in a modern economy. 
ii. Compare and contrast the marketing and sale concepts. 

iii. Why do producers pay special attention to marketing? 

7. Agricultural marketing is the study of all the activities, agencies and policies 
involved in the procurement of farm inputs and the movement 
of agricultural products from the farm to the consumer. 

i. Briefly identify the role of agricultural marketing in a modern economy. 
ii. What are the major weaknesses in agricultural marketing in Sri Lanka? 

iii. What are the solutions for those weaknesses? 
8. Write detailed notes on any three (03) of the following. 

i. Staple diets 
ii. Leisure consumption 

iii. Life Cycle Hypothesis 
iv. Social safety nets 
v. Household consumption and expenditure surveys 
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